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1. Write your Roll No. on the top immediately on receipt of this question paper.
All questions carry equal marks.
Atempt any five Questions.
Answers may be written either in English or in Hindi; But the same medium should be
used throughout the paper.
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Q1. What is Production Possibility Curve? Why does it slope downwards to the right? How is
it related to economic growth?
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Q2. What is the effect of the following on quantity demanded of a good

(a) Change in the price of a good
(b) Change in the consumers income
(c) Change in the price of related goods
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Q3. What are the assumptions of the indifference curve analysis? Diagrammatically show
consumer’s equilibrium with the help of an indifference curve. How does equilibrium change
with a change in consumer’s income?
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Q4. Using the concept of income effect and substltutlon eﬁect of a price change, explain
price effect in the case of

(a) A normal good
(b) A Giffen good
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Qs.

(a) Explain with the help of diagram the law of variable proportions.
(b) Why the short run average cost is curve U-shaped? -
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Q6. “A perfectly competitive market is allocatively efficient because it equates marginal cost
to price in all lines of production and because it maximizes the sum of producer’s and
consumer’s surplus.” Explain with the help of diagram.
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Q7.

(a) Define the concept of Economic Rent with the help of e; diagram.
(b) Explain why the supply curve of labour is backward bending.
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Q8. Write short notes on any Twe of the following:

(a) Gains from trade
(b) Price Discrimination
(c) Economies of Scale

fr=fefs o 4 A &1 w s fRufht o)
(31) @R ¥ am
@) s fade
@) WA A a=m



